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T s 43 Read_X_Force:
Moodefs bas 4 pulsin PORTA.D, HiPulse, xRaw
o 2 oo 45 pause 1000
8] osc & I
= () Constants N ((xRaw / 99) - 502) / & Tg= ((t1/ 0.01) - 0.5) / 12.5% formula
Eyrest 0 xRay /5
I R 45 xoxRav = xxRav -s02
S0 xGPorce = woma /8
o xraw g
W xcram b
4 xoRow B . e
Y xGrorce 54 "tilt = g x k Select tilt conversion factor based on static G 1
) e = | Tanie date Qerived from Memsic specs.
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) mt £ lookdown? ahs xGForce, <=[174, 334, S0B, 661, 20001, idx ' Table is in thousar
W froc s
23 Aiasand Modiers S looku iax, (57, S8, 59, 60, 2], mult "integer 1ookup
© symbok o
o Labek 61 lookupz iax, [32768, 10486, 2621, 30802, 22938, frac ‘gets fractional result
8] Read ¢ Force o " G Force is divided by 10 to prevent rall-
8] Readire e ‘Fractionsl lookup like this: 65,536 * .16
8] check sinx o
[P 5 xTilt = mult ¢ (she xGForce / 10) + [frac ** (ahs xGForce / 10))
6 cheox signx:
7 if (xGForce.bitlS = 0) then XT Exit ' if positive, skip correct for g force sic
6 xTilc = -xTilc
e xmox
70 gosun Read_X_Force
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